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20238 =0lle =2 SEIH X

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S 1,962,096 1,755,398 196,698
= 100,000
Jl 619,671
[Ea 1,232,425
B 2e|(8F /825 1,945,656 1,742,458 203,198
= 100,000
7l 619,671
= 1,225,985
RN (=N ELSIA) 1,945,656 1,742,458 203,198
= 100,000
Il 619,671
o 1,225,985
OlHEIHIS 47,902 48,500 A5%8
7l 46,902
= 1,000
207 ARl 46,902 47,500 A598
Il 46,902
01 ARSI 46,902 47,500 2598
OReE | 0|HB IR
46,902,000 46,902
Jl 46,902
801 OiIHIBI 1,000 1,000
01 Etoiiblgl 1,000 1,000
oodisl 1,000,000 1,000
HiEAIZAIE 2LIEE 12,474 7,660 4,814
Il 9,474
= 3,000
207 ARl 12,474 7,660 4,814
Jl 9,474
o 3,000
01 H2E4H| 12,474 7,660 4,814
O2gsgc] HEAZAE ZLHESS
12,474,0008 12.474
Jl 9,474
s 3,000
JIEER SSHCAE 2l 1,679,000 1,679,000 0
Jl 467,015
s 1,211,985
403 AXIEHHISAH=0l 1,679,000 1,679,000 0
Jl 467,015
= 1,211,985
02 SISOt =& P E A I 1,679,000 1,679,000 0
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NE: BN Me|(HY/BBHEA)
Eel: SEME (SEINLESSSIH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONEE2LITHIANE 29
1,679,000,000& 1,679,000
Jl 467,015
Ea 1,211,985
SHEGHA MBI DI FSAIS (OIS ALY) 6,280 7,298 1,018
Il 6,280
307 elztol & 6,280 7,298 21,018
Jl 6,280
05 2ItRIE= 6.280 7,298 21,018
Oodtd M0 2t eltl 6.,280,000& 6.280
7l 6,280
FUEGE sHE2Y FS22IAI(Z2D) 200,000 0 200,000
= 100,000
) 90,000
Ea 10,000
206 MH=H| 150,000 0 150,000
= 75,000
Il 70,000
= 5,000
01 MZH| 150,000 0 150,000
FUEE sYUHIELE ISACIMY 2
LIEE 150,000,000 150,000
= 75,000
Il 70,000
= 5,000
207 ARl 50,000 0 50,000
= 25,000
Il 20,000
= 5,000
01 H1E4H] 50,000 0 50,000
O=F2UHME sEHIERE S &2
LIEE 50,000,000 50,000
= 25,000
Jl 20,000
= 5,000
ML Es(eZ4n) (28/HII12) 6,440 12,940 26,500
BEXE(EMLSESIH) 6,440 12,940 26,500
SBENS(=EMLELSIH) 6,440 12,940 26,500
802 gtetsJIEt 6,440 12,940 26,500
01 =nEx3tte= 6.440 12,940 26,500
O218E @ E 2| OldEIIEd g
&hot Bt 5,800,000& 5,800
O2028 s @FES 2| BHEASAIE 2L
Halgs Damo 640,000 640




